Punnett Square 

Test N
(write on this test but put ANSWERS on scantron)

A heterozygous brown eyed female was crossed with a heterozygous male. 
B=brown    b=blue
1.  What is the recessive trait?

a.  brown


b.  blue


c.  eyes


d.  it depends on the male

2.  What is the P1?


a.  BB x BB


b.  Bb x bb


c.  Bb


d.  Bb x Bb

3.  What is/are the F1 genotype(s)?

a.  BB, 2Bb, bb


b.  BB


c.  all brown


d.  1 blue and 3 brown 

4.  What is the fraction of kids possible with brown eyes?


a.  ¼


b.  ½


c.  ¾


d.  none will be brown eyed

5.  What percent chance do the kids have of being blue eyed?


a.  0%


b.  25%


c.  75%


d.  100%
Mark is a heterozygous tongue roller.  Maggie is NOT a tongue roller.  If  tongue rolling is dominant (T) and non-tongue roller is recessive…

6.  What is Maggie’s genotype?


a.  TT


b.  Tt


c.  tt


d.  tongue roller

7.  What is/are the F1 phenotype(s)?

a.  all TT


b.  2 tongue rollers and 2 not


c.  2Tt, 2tt


d.  all Tt

8.  What percent chance do the kids have of being non-tongue rollers?


a.  0%


b.  25%


c.  50%


d.  100%

Cross a heterozygous hornless (H) bull with a horned cow.  
9.  What is the bull genotype?


a.  HH


b.  Hh


c.   hh


d.  horned

10.  What percent chance do the offspring have of having no horns?


a.  0%


b.  25%


c.  50%


d.  100%
